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SECTION A – (10 × 2 = 20 marks)
(Q.No. 1-12)Answer  any TEN  questions

1.   Parabolic trend
2.  Dot diagram
3.  Regression Analysis
4.  Critical Region
5.  Equation for fitting of a second degree trend
6.  Type II error
7.  Null hypothesis
8.  If N=50,∑x=75,∑y=150,∑x 2=150,∑y2 =140,∑xy=120 Find r.
9.  If the sum of squares of difference of ranks, given  by two judges A and B, of 8 students is 21, what is  
     the value of rank correlation coefficient?
10. a)The factor reversal test is represented symbolically as ___________
      b)Price relative is expressed in terms of ____________
11. From the data given below calculate Laspeyre’s and Paasche’s index number.
∑p1q0=504.2 ; ∑poqo=1025.9
∑p1q1=450.1 ; ∑poq1=916.3
12. a)__________ index is known as the ‘ideal’ formula for constructing index numbers.
      b)Time reversal test is satisfied when p01 + q01 = 1 (True/False)

SECTION B – (5 × 5 = 25 marks)
(Q.No. 13-19)Answer any FIVE questions
13.  Explain the types of Correlation.
14.  Two judges in a beauty competition rank the 12 entries as follows.
X :   1     2    3    4     5    6    7    8   9   10   11   12
Y :   12   9    6    10   3    5    4    7   8    2    11    1
 (
[P.T.O.]
)                Calculate the rank correlation coefficient between X and Y.
15.  Calculate five – yearly moving averages of number of students studying in a college from the following   
        figures.
Year:                    1981      1982      1983     1984    1985     1986    1987    
No of students:   332         317        357       392      402        405      410
Year:                     1988      1989     1990
No of students:     427        405       438
16.   Calculate the seasonal index for the following date by using the simple average method.
Year      1st Quarter         2nd Quarter     3rd Quarter     4th Quarter
1984             72                           68                  80                 70
1985             76                           70                  82                  74
1986             74                            66                  84                 80
1987             76                            74                  84                 78
1988             78                            74                  86                  82
       17. Compute Fisher’s and Bowley’s Price index numbers for 1985 from the following  
         date.
                Commodity                      1980                                  1985
                                             Price             quantity           price            quantity
                        A                    15                     15                   22                   12
                        B                     20                     5                     27                    4
                        C                      4                      10                   7                      5
18.   Two salesman A and B are working in a certain district . From a sample survey conducted by the head  
        office, the following results were obtained. State whether there is any significant difference in the  
        average sales between the two salesman.
                                                      A                B
No of sales                                    20              18
Average sales(`)                         170            205
Standard deviation(`)                    20              25



19.  A random sample of 1000 workers from south India show that their mean wages are ` 47  per week 
              with a standard deviation of ` 28.A random sample of 1500 workers from north India gives a mean   
             wage of `49 per week with a standard deviation of `40.Is there any significant difference between  
              their mean level of wages?
SECTION C – (2 × 15 = 30 marks)
(Q.No. 20-23)Answer any TWO questions
 
20.  Fit a second degree parabola to the following data and also estimate the value for 1990 and give your 
       comments.
Year                  1955     1960       1965     1970    1975   1980     1985
Production        6             8             9            10         12        11          8
(‘000units)
21.  Calculate the coefficient of correlation between X and Y  for the following data 
X      1      3        4       5        7       8         10
Y       2      6       8      10      14    16       20  
22.  The annual production of a commodity is given as follows :
Year               1990     1991     1992    1993     1994     1995     1996
Production        70        80        90         95         102       110       115
(in tonnes)
               Fit as straight line trend by the method of least squares.
23.  Construct with the help of the data given below Fisher’s ideal
               Index, and show how it satisfies the Time Reversal Test.
Commodity        base year price        base year           current              current 
                                   (`)                      (qty)              yr price (`)          year(qty)
Wheat                            8                       50                   20                      60                
Ghee                              2                       15                     6                      10            
Firewood                       1                       20                     2                       25
Sugar                             2                       10                     5                         8
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